Reader Aids

Federal Register

Vol. 69, No. 166

Friday, August 27, 2004

CUSTOMER SERVICE AND INFORMATION

Federal Register/Code of Federal Regulations General Information, indexes and other finding aids	202-741-6000
Laws	741–6000
Presidential Documents Executive orders and proclamations The United States Government Manual	741–6000 741–6000
Other Services	
Electronic and on-line services (voice)	741–6020
Privacy Act Compilation	741–6064
Public Laws Update Service (numbers, dates, etc.) TTY for the deaf-and-hard-of-hearing	741–6043 741–6086

ELECTRONIC RESEARCH World Wide Web

Full text of the daily Federal Register, CFR and other publications is located at: http://www.gpoaccess.gov/nara/index.html

Federal Register information and research tools, including Public Inspection List, indexes, and links to GPO Access are located at: http://www.archives.gov/federal_register/

E-mail

FEDREGTOC-L (Federal Register Table of Contents LISTSERV) is an open e-mail service that provides subscribers with a digital form of the Federal Register Table of Contents. The digital form of the Federal Register Table of Contents includes HTML and PDF links to the full text of each document.

To join or leave, go to http://listserv.access.gpo.gov and select Online mailing list archives, FEDREGTOC-L, Join or leave the list (orchange settings); then follow the instructions.

PENS (Public Law Electronic Notification Service) is an e-mail service that notifies subscribers of recently enacted laws.

To subscribe, go to http://listserv.gsa.gov/archives/publaws-l.html and select *Join or leave the list* (or change settings); then follow the instructions.

FEDREGTOC-L and **PENS** are mailing lists only. We cannot respond to specific inquiries.

Reference questions. Send questions and comments about the Federal Register system to: fedreg.info@nara.gov

The Federal Register staff cannot interpret specific documents or regulations. $\,$

FEDERAL REGISTER PAGES AND DATE, AUGUST

46095–46398 46399–46978 46979–47352	3
47353–47762 47763–48128 48129–48358 48359–48764 48765–49782 49783–50048	6 9 10
49763—30048 50049—50264 50265—50994 50995—51154 51155—51354 51355—51546 51547—51760	13 16 17 18
51761–51942 51943–52150 52151–52408 52409–52582 52583–52806	23 24 25 26

CFR PARTS AFFECTED DURING AUGUST

At the end of each month, the Office of the Federal Register publishes separately a List of CFR Sections Affected (LSA), which lists parts and sections affected by documents published since the revision date of each title.

3 CFR	9349783
Proclamations:	Proposed Rules:
780551353	7152451
Executive Orders:	9351960
13222 (See Notice of	32750086, 51194
August 6, 2004)48763	38151194
13334 (See EO	10 CED
13351)50047	10 CFR
13351,50047	7250053
Administrative Orders:	43050997
	Proposed Rules:
Notices:	5046452
Notice of August 6, 200448763	7250089
Presidential	43147486
	44.050
Determinations: No. 2004–40 of July	11 CFR
21, 2004—40 of July 21, 200446399	Proposed Rules:
No. 2004–41 of August	10052461
	10.050
6, 200450049	12 CFR
5 CFR	550293
53147353	3251355
83150265	20151001
84250265	22650298
04200200	22947290
7 CFR	563e51155
30150995, 50996	Proposed Rules:
31952409	34551611
40048652	60747984
40248652	61447984
40748652	61547984
45748652, 52151, 52157,	62047984
52583	14 CFR
90550265, 50269, 50275	
91650278	2347354
91750278	3946979, 47763, 48129,
92550283	48131, 48133, 48135, 48138,
95650286	48359, 48361, 48363, 48365,
98950289	48366, 48368, 49957, 50056,
143452167	50299, 50445, 51002, 51358,
143548765	51547, 51549, 51753, 51761
172452594	7147357, 48141, 48142,
172652594	48143, 48144, 48765, 48766,
Proposed Rules:	51943, 51944, 51945, 51946,
30449824	51947, 51948, 51949, 52595,
45748166	52596
92750334	7347358
93350337	9151162, 51940
98750339	9551950
177548174	9748144, 51763
177748174	12151940
177848174	12551940
178048174	12951940
194248174	Proposed Rules:
357048174	2550240
427448174	3946456, 47028, 47031,
8 CFR	47035, 47038, 47040, 47041,
	47388, 47391, 47393, 47802,
23550051	47804, 47806, 47808, 47811,
274a47763	47814, 48424, 48426, 49829,
9 CFR	50341, 50344, 50346, 51015,
* ****	51017, 51196, 51198, 51200,
7852419	51203, 51206, 51402, 51616

7148826, 51019	31448774	35950307	48799, 50074, 51571, 52182,
12150090, 50350	51047360, 47361	36350307	52192, 52434
12550090	51451162	Proposed Rules:	30047377, 48153, 48398,
			51583
12950350	52048774, 49808, 51171	10351973, 51979	
13550090, 50350	52247361, 47362	53848183	45151892
,			
45 OED	52447361, 47363, 48391	55048183	Proposed Rules:
15 CFR	55851172, 51173	56048183	5147828
40700		300	
449783	80152170		5247399, 48186, 48434,
30351552	87251765	32 CFR	51215, 51404, 51986, 52220,
80150062	87848146	19951559	52463
Proposed Rules:		51947766, 51569	6251987
	22 CFR	· · · · · · · · · · · · · · · · · · ·	
80152613		Proposed Rules:	6347049, 48338
80651020	Proposed Rules:	19948433	7247828
0001020	•		7347828
	21151404	32248183	/34/020
16 CFR			7447828
	23 CFR	00 OFD	
Proposed Rules:		33 CFR	7747828
31650091	Proposed Rules:	100 10001 10000 10011	7847828
31050091	77251620	10046994, 46996, 49811,	8048827
	77231620	52171	
17 CFR			8147399, 48835
	25 CFR	10451176	8252366
149784		10551176	
3049800	1151556		9647828
		11746998, 47771, 48394,	15650014
23249803	26 CFR	48395, 49812	
23948370, 49805, 52788		16051176	16550014
	146401, 46982, 47364,		18047051
24048008		16548787, 48790, 49813,	
24148008	48392, 50065, 50067, 50069,		30047068, 47072, 48187,
	50302, 51175, 52419	49816, 51767, 52600	48434, 50015, 51623
24248008		Proposed Rules:	
24948370, 52788	14a46401	•	31252542, 52581
	4048393	10052615	,
27052788		11747045, 52617	42 CFR
	4851559	· · · · · · · · · · · · · · · · · · ·	42 OI II
27449805, 52788	4948393	16547047, 51785	40348916
Proposed Rules:		33451788	
	30149809	00701700	41248916
27551620	60246982, 51559	** ***	41348916
27951620	-	36 CFR	
270	Proposed Rules:	0.40	41848916
40.050	-	24246999	46048916
18 CFR	147043, 47395, 47816,	Proposed Rules:	
050 10031	47822, 48428, 48429, 48431,	•	48048916
35848371		749841, 51788	48248916
38848386	49832, 49836, 49957, 50108,	,	
	50109, 50112, 51025, 51026,	37 CFR	48348916
Proposed Rules:	51208, 51209, 51889, 51967,	3/ CFN	48548916
3551024		149960, 52604	
3331024	52212, 52217, 52462	· · · · · · · · · · · · · · · · · · ·	48948916
		251362	Proposed Rules:
			Proposed Rules:
19 CFR	2651967	E 40060	
	4048432	549960	
	4048432		40252620
452597	4048432 4948432	1049960	40252620 40346632
452597 1052597	4048432	1049960 1149960	40252620
452597	4048432 4948432	1049960	402 52620 403 46632 405 47488
4 52597 10 52597 12 52597	40 .48432 49 .48432 301 .49840	1049960 1149960 4149960, 52604	402 52620 403 46632 405 47488 410 47488, 50448
4	4048432 4948432	1049960 1149960 4149960, 52604 Proposed Rules:	402 52620 403 46632 405 47488
4 52597 10 52597 12 52597	40	1049960 1149960 4149960, 52604 Proposed Rules:	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448
4. .52597 10. .52597 12. .52597 18. .52597 19. .52597	40	1049960 1149960 4149960, 52604	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488
4 .52597 10 .52597 12 .52597 18 .52597 19 .52597 101 .50064 ,52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448
4. .52597 10. .52597 12. .52597 18. .52597 19. .52597	40	1049960 1149960 4149960, 52604 Proposed Rules:	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866
4 .52597 10 .52597 12 .52597 18 .52597 19 .52597 101 .50064 ,52597 122 .52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488
4 .52597 10 .52597 12 .52597 18 .52597 19 .52597 101 .50064, 52597 122 .52597 123 .51007, 52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866
4 .52597 10 .52597 12 .52597 18 .52597 19 .52597 101 .50064 ,52597 122 .52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448
4 .52597 10 .52597 12 .52597 18 .52597 19 .52597 101 .50064, 52597 122 .52597 123 .51007, 52597 141 .52597	40	10	402 52620 403 46632 405 47488 50448 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866
4 52597 10 52597 12 52597 18 52597 19 52597 101 50064, 52597 122 52597 123 51007, 52597 141 52597 162 52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448
4 .52597 10 .52597 12 .52597 18 .52597 19 .52597 101 .50064, 52597 122 .52597 123 .51007, 52597 141 .52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632
4. .52597 10. .52597 12. .52597 18. .52597 19. .52597 101. .50064, 52597 122. .52597 123. .51007, 52597 141. .52597 162. .52597 163. .52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488
4. .52597 10. .52597 12. .52597 18. .52597 19. .52597 101. .50064, 52597 122. .52597 123. .51007, 52597 141. .52597 162. .52597 163. .52597 171. .52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632
4. .52597 10. .52597 12. .52597 18. .52597 19. .52597 101. .50064, 52597 122. .52597 123. .51007, 52597 141. .52597 162. .52597 163. .52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620
4. .52597 10. .52597 12. .52597 18. .52597 19. .52597 101. .50064, 52597 122. .52597 123. .51007, 52597 141. .52597 162. .52597 163. .52597 171. .52597 181. .52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488
4. .52597 10. .52597 12. .52597 18. .52597 19. .52597 101. .50064, 52597 122. .52597 123. .51007, 52597 141. .52597 162. .52597 163. .52597 171. .52597 181. .52597	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 48666 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488 486 47488
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 414 47488 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488 486 47488 44 CFR
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488 486 47488 44 CFR 64
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488 486 47488 44 CFR
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488 486 47488 44 CFR 64 64 46435 65 47780, 47786, 50312,
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488 486 47488 44 CFR 64 64 46435 65 47780, 47786, 50312, 50318, 50320, 50321, 51373,
4	40	10	402 52620 403 46632 405 47488 410 47488, 50448 411 46632, 47488, 50448 417 46632, 46866 418 47488 419 50448 422 46866 423 46632 424 47488 431 52620 457 52620 484 47488 486 47488 44 CFR 64 64 46435 65 47780, 47786, 50312,
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402
4	40	10	402

2540501: 2550501:	
46 CFR	
71473	78
114473	78
115473	78
125473	78
126473	78
167473	78
169473	78
175473	78
176473	78
3885170	69
Proposed Rules:	
66498	44
296519	87
47.0FD	
47 CFR	
0464	38
146438, 47788, 477	
246438, 48157, 521	
2547790, 48157, 5158	,
5219	-
64524	
7346447, 47385, 4779	,
49818, 51009, 51389, 5139	90,

51588
7448157
9046438, 48157, 51959
9546438
10148157, 52198
*
Proposed Rules:
052632
148188, 51028
246462, 48192, 51028,
52632
2048440
2548192
6348188
6448188
6950141
7346474, 46476, 47399,
48443, 50146, 51034, 51414,
51415, 51624, 52220, 52464
8048440
9046462
9751028
10152632
10102002
48 CFR
143752607
Proposed Rules:
2851936

228	48444
229	48445
1835	49845
1852	49845
49 CFR	
1	51009
192	48400
195	48400
375	47386
381	51589
383	51391
571	.48805, 48818, 51188,
	51393, 51399, 51598
573	49819, 50077
574	51399
577	49819
579	49822
586	51393
591	52070
592	52070
594	52070
1002	52208
Proposed	Rules:
171	47074, 49846, 50976
172	47074, 49846, 50976
173	47074 49846 50976

17547074
17847074, 49846
17949846
18049846
57147075
5/14/0/5
50 CFR
1747212, 47330, 48115
2048163
10046999
22948407, 51774
40247732
63547797, 51010, 51608
64847797, 51010, 51000
66046448, 51012, 51400,
51609, 52448, 52449
67946451, 47025, 47026,
51013, 51014, 51191, 52209,
52609
Proposed Rules:
1747834, 48102, 48570,
50147, 51217, 51416, 51417
2051036, 52128

REMINDERS

The items in this list were editorially compiled as an aid to Federal Register users. Inclusion or exclusion from this list has no legal significance.

RULES GOING INTO EFFECT AUGUST 27, 2004

ENVIRONMENTAL PROTECTION AGENCY

Air quality implementation plans; approval and promulgation; various

Wyoming; published 7-28-04

GOVERNMENT ETHICS OFFICE

Certificates of divestiture; published 7-28-04

HOMELAND SECURITY DEPARTMENT

Customs and Border Protection Bureau

Technical corrections; published 8-27-04

HOMELAND SECURITY DEPARTMENT

Coast Guard

Ports and waterways safety: Puget Sound Captain of Port Zone, WA; security zones; published 8-27-04

INTERIOR DEPARTMENT

Acquisition regulations: Woody biomass utilization; published 8-27-04

POSTAL SERVICE

Persons with disabilities; access to Postal Service programs, activities, facilities, and electronic and information technology; published 7-28-04

Procedures:

Personal injury or property damage arising out of U.S. Postal Service operation; claims adjudication procedures; published 8-27-04

TREASURY DEPARTMENT

Terrorism Risk Insurance Program:

Litigation management; published 7-28-04

RULES GOING INTO EFFECT AUGUST 28, 2004

FEDERAL RESERVE SYSTEM

Availability of funds and collection of checks (Regulation CC):

Routing number guide to next-day availability checks and local checks; technical amendment; published 6-25-04

RULES GOING INTO EFFECT AUGUST 29, 2004

HOMELAND SECURITY DEPARTMENT

Coast Guard

Regattas and marine parades: MTV Video Music Awards; published 8-25-04

COMMENTS DUE NEXT WEEK

AGRICULTURE DEPARTMENT

Agricultural Marketing Service

Cotton classing, testing and standards:

Classification services to growers; 2004 user fees; Open for comments until further notice; published 5-28-04 [FR 04-12138]

AGRICULTURE DEPARTMENT Animal and Plant Health Inspection Service

Interstate transportation of animals and animal products (quarantine):

Tuberculosis in cattle, bison, and captive cervids—

Affected bard: definition:

Affected herd; definition; comments due by 8-31-04; published 7-2-04 [FR 04-15072]

AGRICULTURE DEPARTMENT

Farm Service Agency

State Nonmetropolitan Median Household Income; definition clarification; comments due by 9-1-04; published 8-9-04 [FR 04-18087]

COMMERCE DEPARTMENT National Oceanic and Atmospheric Administration

Fishery conservation and management:

West Coast States and
Western Pacific
fisheries—

Pacific Coast groundfish; comments due by 9-1-04; published 8-17-04 [FR 04-18797]

Pacific whiting; comments due by 9-1-04; published 8-3-04 [FR 04-17667]

COMMODITY FUTURES TRADING COMMISSION

Commodity Futures Modernization Act; implementation: Execution of transactions and core principle 9 guidance; comments due by 8-30-04; published 7-1-04 [FR 04-14815]

COURT SERVICES AND OFFENDER SUPERVISION AGENCY FOR THE DISTRICT OF COLUMBIA

Semi-annual agenda; Open for comments until further notice; published 12-22-03 [FR 03-25121]

DEFENSE DEPARTMENT

Federal Acquisition Regulation (FAR):

Share-in-savings contracting; comments due by 8-31-04; published 7-2-04 [FR 04-15028]

DEFENSE DEPARTMENT Engineers Corps

Danger zones and restricted areas:

Beaufort, SC; Brickyard Creek and tributaries, and Broad River; Marine Corps Air Station; comments due by 8-30-04; published 7-29-04 [FR 04-16923]

ENERGY DEPARTMENT Energy Efficiency and Renewable Energy Office

Consumer products; energy conservation program:

Energy conservation standards—-

Commercial packaged boilers; test procedures and efficiency standards; Open for comments until further notice; published 12-30-99 [FR 04-17730]

ENERGY DEPARTMENT Federal Energy Regulatory Commission

Electric rate and corporate regulation filings:

Virginia Electric & Power Co. et al.; Open for comments until further notice; published 10-1-03 [FR 03-24818]

ENVIRONMENTAL PROTECTION AGENCY

Air pollutants, hazardous; national emission standards:

Biological treatment unit; determination of fraction biodegraded (Fbio); comments due by 8-30-04; published 6-30-04 [FR 04-14826]

Fabrics and other textiles; printing, coating, and dyeing operations; comments due by 9-3-04; published 8-4-04 [FR 04-17779] Air pollution control:

State operating permit programs—

Nevada; comments due by 9-1-04; published 8-2-04 [FR 04-17497]

Nevada; comments due by 9-1-04; published 8-2-04 [FR 04-17498]

State operating permits programs—

lowa; comments due by 8-30-04; published 7-29-04 [FR 04-17296]

lowa; comments due by 8-30-04; published 7-29-04 [FR 04-17297]

Kansas; comments due by 8-30-04; published 7-29-04 [FR 04-17294]

Kansas; comments due by 8-30-04; published 7-29-04 [FR 04-17295]

Air pollution control; new motor vehicles and engines:

New locomotive engines and new marine compression-ignition engines less than 30 liters per cylinder; comments due by 8-30-04; published 6-29-04 [FR 04-11294]

Air quality implementation plans:

Preparation, adoption, and submittal—-

Prevention of significant deterioration and nonattainment new source review; equipment replacement provision; reconsideration; comments due by 8-30-04; published 7-1-04 [FR 04-14992]

Air quality implementation plans; approval and promulgation; various States; air quality planning purposes; designation of areas:

Maryland; comments due by 9-1-04; published 8-2-04 [FR 04-17499]

Pennsylvania; comments due by 8-30-04; published 7-1-04 [FR 04-14822]

Air quality implementation plans; approval and promulgation; various States:

New York; comments due by 8-30-04; published 7-1-04 [FR 04-14820]

Environmental statements; availability, etc.:

Coastal nonpoint pollution control program—

Minnesota and Texas; Open for comments until further notice; published 10-16-03 [FR 03-26087]

Pesticides; tolerances in food, animal feeds, and raw agricultural commodities:

Aspergillus flavus (NRRL 21882); comments due by 8-30-04; published 6-30-04 [FR 04-14609]

Solid wastes:

Hazardous waste; identification and listing— Exclusions; comments due by 8-30-04; published 7-15-04 [FR 04-15945]

Superfund program:

National oil and hazardous substances contingency plan—

National priorities list update; comments due by 8-30-04; published 7-30-04 [FR 04-17298]

National priorities list update; comments due by 8-30-04; published 7-30-04 [FR 04-17299]

National priorities list update; comments due by 8-30-04; published 7-30-04 [FR 04-17300]

National priorities list update; comments due by 8-30-04; published 7-30-04 [FR 04-17301]

National priorities list update; comments due by 9-3-04; published 8-4-04 [FR 04-17500]

National priorities list update; comments due by 9-3-04; published 8-4-04 [FR 04-17659]

Water pollution; effluent guidelines for point source categories:

Meat and poultry products processing facilities; Open for comments until further notice; published 12-30-99 [FR 04-12017]

FEDERAL COMMUNICATIONS COMMISSION

Radio frequency devices:

Unlicensed operation in TV broadcast bands; comments due by 9-1-04; published 6-18-04 [FR 04-13573]

Radio services; special:

Private land mobile services—

Narrowbanding; comments due by 9-2-04; published 8-3-04 [FR 04-17074]

Radio stations; table of assignments:

Arizona; comments due by 8-30-04; published 7-21-04 [FR 04-16611] Florida; comments due by 8-30-04; published 7-21-04 [FR 04-16609]

Mississippi; comments due by 8-30-04; published 7-21-04 [FR 04-16608]

GENERAL SERVICES ADMINISTRATION

Federal Acquisition Regulation (FAR):

Share-in-savings contracting; comments due by 8-31-04; published 7-2-04 [FR 04-15028]

HEALTH AND HUMAN SERVICES DEPARTMENT

Centers for Medicare & Medicaid Services

Medicare:

Ambulance services fee schedule; temporary rate increases; comments due by 8-30-04; published 7-1-04 [FR 04-15090]

HEALTH AND HUMAN SERVICES DEPARTMENT Food and Drug

Administration

Reports and guidance documents; availability, etc.:

Evaluating safety of antimicrobial new animal drugs with regard to their microbiological effects on bacteria of human health concern; Open for comments until further notice; published 10-27-03 [FR 03-27113]

Medical devices-

Dental noble metal alloys and base metal alloys; Class II special controls; Open for comments until further notice; published 8-23-04 [FR 04-19179]

HOMELAND SECURITY DEPARTMENT

Coast Guard

Anchorage regulations:

Maryland; Open for comments until further notice; published 1-14-04 [FR 04-00749]

New York; comments due by 8-30-04; published 6-30-04 [FR 04-14869]

Drawbridge operations:

Maryland; comments due by 8-31-04; published 4-16-04 [FR 04-08710]

New York; comments due by 9-4-04; published 6-2-04 [FR 04-12407]

Ports and waterways safety:

Wiscasset, ME; safety zone; comments due by 9-2-04; published 8-23-04 [FR 04-19251]

INTERIOR DEPARTMENT Fish and Wildlife Service

Endangered and threatened species:

Findings on petitions, etc.— New England cottontail rabbit; comments due by 8-30-04; published 6-30-04 [FR 04-14610]

Migratory bird hunting:

Early-season regulations (2004-2005); frameworks; meetings; comments due by 8-30-04; published 7-21-04 [FR 04-16550]

Seasons, limits, and shooting hours; establishment, etc.; comments due by 9-3-04; published 8-24-04 [FR 04-19249]

JUSTICE DEPARTMENT Prisons Bureau

Inmate control, custody, care, etc.:

Drug Abuse Treatment Program; comments due by 8-30-04; published 7-1-04 [FR 04-14975]

NATIONAL AERONAUTICS AND SPACE ADMINISTRATION

Federal Acquisition Regulation (FAR):

Share-in-savings contracting; comments due by 8-31-04; published 7-2-04 [FR 04-15028]

NATIONAL ARCHIVES AND RECORDS ADMINISTRATION

Public availability and use:

Federal records and donated historical materials containing restricted information; access restrictions; comments due by 8-30-04; published 6-30-04 [FR 04-14754]

NATIONAL CREDIT UNION ADMINISTRATION

Credit unions:

Member business loans; collateral and security requirements; comments due by 8-30-04; published 7-1-04 [FR 04-14763]

Organization and operations—

Change in official or senior executive officer in credit unions newly chartered or are in troubled condition; filing requirement; comments due by 8-30-04; published 7-1-04 [FR 04-14764]

NUCLEAR REGULATORY COMMISSION

Environmental statements; availability, etc.:

Fort Wayne State
Developmental Center;
Open for comments until
further notice; published
5-10-04 [FR 04-10516]

OFFICE OF MANAGEMENT AND BUDGET

Management and Budget Office

Human resource management: Executive performance and accountability; comments due by 8-30-04; published 7-29-04 [FR 04-17319]

PERSONNEL MANAGEMENT OFFICE

Performance management:

Executive performance and accountability; comments due by 8-30-04; published 7-29-04 [FR 04-17319]

Senior Executive Service:

Pay and performance awards and aggregate limitation on pay; comments due by 8-30-04; published 7-29-04 [FR 04-17320]

SECURITIES AND EXCHANGE COMMISSION

Regulatory Flexibility Act:
Rules to be reviewed; list;
comments due by 9-1-04;
published 8-2-04 [FR 0417459]

Securities:

Trust and fiduciary activities exception; exemptions and defined terms (Regulation B); comments due by 9-1-04; published 7-28-04 [FR 04-17112]

SMALL BUSINESS ADMINISTRATION

Disaster loan areas:

Maine; Open for comments until further notice; published 2-17-04 [FR 04-03374]

SOCIAL SECURITY ADMINISTRATION

Social security benefits and supplemental security income:

Federal old age, survivors, and disability insurance, and aged, blind, and disabled—

Mandatory exclusion of health care providers and representatives from participating in disability programs; comments due by 8-31-04; published 7-2-04 [FR 04-15077]

OFFICE OF UNITED STATES TRADE REPRESENTATIVE Trade Representative, Office of United States

Generalized System of Preferences: 2003 Annual Product
Review, 2002 Annual
Country Practices Review,
and previously deferred
product decisions;
petitions disposition; Open
for comments until further
notice; published 7-6-04
[FR 04-15361]

TRANSPORTATION DEPARTMENT Federal Aviation Administration

Air carrier certification and operations:

Portable oxygen concentrator devices use onboard aircraft; comments due by 8-30-04; published 8-13-04 [FR 04-18645]

Transport airplane fuel tank systems; special maintenance program requirements; compliance extension; aging airplane program update; comments due by 8-30-04; published 7-30-04 [FR 04-17188]

Airworthiness directives:

Airbus; comments due by 8-30-04; published 8-4-04 [FR 04-17762]

Airline Container
Manufacturing Co., Inc.;
cargo restraint strap
assemblies; comments
due by 8-30-04; published
8-4-04 [FR 04-17764]

BAE Systems (Operations) Ltd.; comments due by 8-30-04; published 7-30-04 [FR 04-17224] Boeing; comments due by 8-30-04; published 7-15-04 [FR 04-16030] Empresa Brasileira de Aeronautica S.A. (EMBRAER); comments due by 9-3-04; published 8-4-04 [FR 04-17761]

Honeywell; comments due by 8-30-04; published 7-1-04 [FR 04-14946]

Rolls Royce Corp.; comments due by 8-30-04; published 7-1-04 [FR 04-14945]

Airworthiness standards: Special conditions—

> New Piper Aircraft, Inc., PA-28-161, PA-28-181, PA-28R-201, PA-32-301FT, PA-32-301XTC, PA-32R-301, and PA-32R-301T model airplanes; comments due by 8-30-04; published 7-30-04 [FR 04-17402]

Piper Cheyenne PA-31T, PA-31T1, and PA-31T2 model airplanes; comments due by 8-30-04; published 7-30-04 IFR 04-17407l

Class D airspace; comments due by 9-1-04; published 8-2-04 [FR 04-17531]

Class E airspace; comments due by 8-31-04; published 8-11-04 [FR 04-18202]

TRANSPORTATION DEPARTMENT Federal Railroad Administration

Railroad locomotive safety standards:

Event recorders; comments due by 8-31-04; published 6-30-04 [FR 04-14636]

TRANSPORTATION DEPARTMENT

Maritime Administration

Subsidized vessels and operators:

Maritime Security Program; comments due by 8-30-04; published 8-24-04 [FR 04-19322]

TRANSPORTATION DEPARTMENT

National Highway Traffic Safety Administration

Anthropomorphic test devices:
Occupant crash protection—
Hybrid III six-year-old
child weighted test
dummy; comments due
by 8-30-04; published
7-16-04 [FR 04-15851]

LIST OF PUBLIC LAWS

This is a continuing list of public bills from the current session of Congress which have become Federal laws. It may be used in conjunction with "PLUS" (Public Laws Update Service) on 202–741–6043. This list is also available online at http://www.archives.gov/federal_register/public_laws/public_laws.html.

The text of laws is not published in the **Federal Register** but may be ordered in "slip law" (individual

pamphlet) form from the Superintendent of Documents, U.S. Government Printing Office, Washington, DC 20402 (phone, 202–512–1808). The text will also be made available on the Internet from GPO Access at http://www.gpoaccess.gov/plaws/index.html. Some laws may not yet be available.

H.R. 4842/P.L. 108-302

United States-Morocco Free Trade Agreement Implementation Act (Aug. 17, 2004; 118 Stat. 1103)

Last List August 12, 2004

Public Laws Electronic Notification Service (PENS)

PENS is a free electronic mail notification service of newly enacted public laws. To subscribe, go to http://listserv.gsa.gov/archives/publaws-l.html

Note: This service is strictly for E-mail notification of new laws. The text of laws is not available through this service. PENS cannot respond to specific inquiries sent to this address.